KEY REVIEW

True-False Questions

_____
1.
As plants produce more, they gain experience in the best production

methods, which reduce their costs of production in a predictable manner.

_____
2.
Every time a plant’s cumulative production doubles, its production costs

increase by a
specific percentage depending on the nature of the

business.

_____
3.
At some point, the size of a plant becomes too large and diseconomies of



scale become a problem.

_____
4.
If the firm does not have the technology to master multiple objectives, then



a broad focus is a logical choice.

_____
5.
Capacity flexibility means having the ability to rapidly increase or decrease


 production levels, or to shift production capacity quickly from one product or
             service to another.

_____
6.
The capacity utilization rate measures the amount of output that a system


 
is capable of achieving over a specific period of time.

_____
7.
A capacity cushion is an amount of capacity in excess of expected




demand.

_____
8.
Service facilities typically have to maintain more locations so they can



maintain close contact with customers.

_____
9.
Unlike goods, services cannot be stored for later use.

_____
10.
The concept of the focused factory holds that a production facility works best when it focuses on a fairly limited set of production objectives.
Multiple-Choice Questions

_____
11.
The capacity decision sets the firm's competitive boundaries for all of the



following issues, except:




A.
Response rate to the market



B.
Its cost structure



C.
Its work force composition



D.
Its level of technology



E.
All of the above are influenced by capacity decisions.

_____
12.
Which of the following is not a benefit of economies of scale?




A.
Average cost per unit decreases.




B.
Fixed costs are spread over fewer units.




C.
Firms can take advantage of quantity discounts.




D.
Material costs are lower.

_____
13.
Diseconomies of scale occur when:




A.
Plant size become too large.



B.
Discounting of products is necessary to keep a facility operating at 




capacity.

C.
Few large capacity pieces of equipment are used, increasing maintenance costs.

.




D.
All of the above cause diseconomies of scale.
_____
14.
Capacity utilization rates are calculated as capacity used divided by:




A.
Design capacity



B.
Annual output



C.
Average number of workers



D.
Best Operating Level
_____
15.
If a firm producing 100 units at $5.00 each experiences an 80% experience

curve, what will unit costs be at 200 units of production?




A.
$5.00



B.
$4.00



C.
$8.00



D.
$2.00
_____
16.
If capacity is excessive, a company may have to:




A.
Reduce prices to stimulate demand.




B.
Underutilize its workforce.




C.
Carry excess inventory.



D.
Seek additional, less profitable products to stay in business.




E.
All of the above.
_____
17.
Flexible processes include:




A.
Flexible manufacturing systems



B.
Easily set-up equipment




C.
Both A and B



D.
Neither A or B
_____
18.
Larger plants can have a two-way cost advantage over their competitors
                  
because of economies of scale and:




A.
Experience curve advantages



B.
Capacity control advantages



C.
Capital expenditures



D.
Lower total labor costs

_____
19.
Which of the following is true of capacity balance?




A.
It is possible to achieve a perfect capacity balance.




B.
Operating levels for each stage of the production process generally 
                               differ.




C.
Product demand is seldom variable.




D.
Processes encourage balance.


Problem
20.
Office Furniture Systems, Inc. must decide whether to build a large plant or a small plant for a new office system for the growing home office market.  The product has an estimated life of 7 years.  A small plant requires an investment of $3.4 million.  Large plants require an investment of $4 million.  The small plant can be expanded after a year at an additional investment of $800,000.  The following estimates are available for after-tax income and demand:



1. If demand is high, a large or expanded plant would yield an annual income of
          $900,000.



2. If demand is low, a large or expanded plant would yield an annual income of
          $300,000.



3. If demand is high, a small plant would yield an annual income of $600,000.



4. If demand is low, a small plant would yield an annual income of $500,000.



5. Probability of high demand in the first year is 0.6.  If demand is high in the first year, the probabilities of high and low demand in subsequent years are 0.7 and 0.3, respectively.



6. Probability of low demand in the first year is 0.4.  If demand is low in the first year, the probabilities of high and low demand in subsequent years are 0.2 and 0.8 respectively.


Using decision trees, evaluate each alternative.  Which alternative should the company follow?  Why?

21.
A regional facility is to be used for manufacturing professional business clothing.  A popular herringbone pattern men’s suit will be manufactured in 150 units; 100 units of a women’s version of this suit will be made, and 200 units of their most popular navy blazer will be made.  The men’s suit is to be produced in one batch, the women’s in two batches, and the navy blazers in four batches.  The following table gives required production times for each product.

	
	Men’s Suit
	Women’s Suit
	Navy Blazer

	Standard time per unit in hours
	4
	8
	6

	Setup time per unit in hours
	0.5
	0
	1

	Standard setup time per batch in hours
	8
	6
	12



Worker efficiency is 90 percent, organization efficiency is 93 percent, and operating efficiency of the machine is 84 percent.  The facility operates on a 7.5 hour workday basis.  If all three products are to be completed in 21 working days, calculate the number of workers required to manufacture the clothing for the upcoming season.

